Capture The Flag 2

Time limit: 5.0s  Memory limit: 256M

CTF stands for Capture The Flag. After all, what else could CTF stand for?

Many problems have long flavour texts that are 'interesting’, 'fun to read’, and 'help you understand the problem'. In
this problem, we cut out the middleman and provide you with the checker directly.



from re import split as resplit
from dmoj.utils.unicode import utf8bytes

p=21423806447394057716114884351768139740157716294272001591783248895827984187811227455598782832
0908141828812662516906558446781640409819395195852573499605737385575325567430464769019455231219
3075343309181247825410450068014680067632890739608418024630487905543302044446513463747360967649
13407024792878078531871
q=30507412659150399636286826545062944878827389057946084522984397603991477269113163490818969245
8338083855308239547414252832719113428223207403604887499086616442151905060456668262303760029741
3765200876573504418750237968552914517656856261410273151155700746951940697047446787591003689040
71786505208703308063453

n=p*q

assert n >= 10 ** 600

e = 289
g0al=46446758267700605789745903310042351975630318786832355444354583002481343641976658724327294
1754252992421079654705431916179853225978801333299082176315522236583793815002144119428388261548
7865409560541434693398174199800181196485300685919528486746543308508481747335466126491888886904
6507299032469436209812650554879861032185256180284615041606288524842036317711557683912069331056
6237509720143960566025393593111495093943132559060858888904727491513184292602912992541158369116
3133430190993471168140301626324728571707869646367991285652479569764725835685540893562846346836
4113760874474759564293017717718113593372194316

def is_valid(s):
if len(s) != 13:
return False
for c in s:
if not (32 <= c <= 127):
return False

return True

def check(process_output, judge output, judge_input, **kwargs):
process_lines = list(filter(None, resplit(b'[\r\n]', utf8bytes(process output))))

if len(process_lines) = 1:
return False

s = process_lines[@] #s is a byte string

if not is_valid(s):
return False

#Encryption Step
encoded = 0



for c in s:
encoded *= 256
encoded += c
assert encoded <= 256 ** 13 <= 10 ** 32

encrypted = pow(encoded, e, n)

return encrypted == goal



